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N,B, : {1) AII questiors are compulsory'
(2)Fromquestionlto4attemptanytwoam0ngthethreei:ttenraioptions.
iri Question 5 is compulsory with uo internal options'

'1.5
. Answer anY two

(a)ExplaininbriefvarjouscomponentsofBalanceofPa)mq'rts.Also
state what is the impact of imbalance ix BoP on foreiga orrrrency rates

in a cr:r.rntry"

(b) A bank io ioai' gives the fcilowing quotes* 7'5

GBp/INR - I 10.253 1 lfia3522
100JPY/INR - 6A -2 128 I 60'2500
(i)Stateiftheabovequotesaredirect.!{l,].otesorjldirectquotes
(ii) Convert indirect quote to direct q;ote
(iii) lina mid rate a.rrd spread of c'siin'rn quote D \?\'r' '
(iv) Find irrverse of GBP/IltlR o.uote .1. v-X-

i")" FindrGBP/ IPY quote /
(c) . A bank in London gives the fofiowiag quotes - 7'5'

GBP/usD - l-5485/t-;09;tr!'reb 
1'v-- 

<r c'F c"b '){ \

GBP/CAD - r-62',75/1 6285 ./ - \-

usD/cAD - 1.A52211 t532 v 
j^ a h -- .

Find arbitrage opportuni!,-, iif any) on 1 million for usDlcAD quote'
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6s.7535
105.7200
88.7979

66.1204
105.2010
88.3900

s%-8%
2"50-3.50%
3.50 - 4.54%
t%-2%
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.System is fo11;rr."reri in India.

{b) State, whict'. is the best market to invest INR i0 million
Follcrvi-ng are the detaiLs available -

4 Month Interest Rate PaCurreucy Spot quote
Forward Rate

J
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(c) Find the forward rate for USD/INR if foilowing is the

ulra **up points for I month, 3 months and 6 months

uSb/nvn (sPot) 65'223-o/5s'5250

L month Points 250/350

3 month Points 38A/670

6 nonth Points 200/100

Aiso fi.rid 75 daY forward rate
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Answer anir two
(a)ExplainindetailthediftbrencebetweenMerchanttrariactionsandT.S

,{H-ff;l$$:::il:f"-}',narket? Arso state the reasons ror emergence or 7"s

Brrroclulency market'

@), wbat is Apti Hr:w it is different from $DP-? State various lypes 7 -5

' of ADR- :

Ansr.ver anY two
(a)Statewhatismeantby,FEDAI,'ExplamindetailtheroleofFEDAIT.5
in India.
(b) Expl-ain difference bet"veel filturos and options contract' 7 '5

,-y nxptuio *n", ir*Bis- wrr* i* rt-Jory of BIS? state curre'nt rr:'e of BIS' 7'5

Ir:'aaaflicle(recen!l.,pubiishori)ithasbeenstatedt}at;Therupee
needs to <lepreciate axd a sl*W ana g.aaoal depreciati-on will be in i,nterest

of India" GlobaL eoonomy ir siowing except for uSA.Thus, dema'n-d for lndian

"_*", 
,. 

"1-arty 
subc.uer-l. Gradual depreciation of rupee may strengthen

Exports. Exports in fudia need to grow and if they do not then it i* ":],:
good news for Inrlil-strengthening of nop"" should be based oo ecorom'Ic

fu::ciamentals lix. ", 
f.igt.er dnp gr"*th tuL, 1o"*r CAD' lower inftration'

iffiffi;;l o.;"ir, *arket etc. The strengthenlnu of Rupeo should not be

based ofl deli"oerate market interve.ntio". Al1y undue strenghtening of Indian

#;;ri;;;;;;t in line withunderlving tuadam:"1*t is not a good sign'

KBr sho*ld intervene onJy to control 
"*"J.uirr* 

volatitrity in for:ex market'

(i) As per the case, state why the Rupee needs lo depreciate 2

graduallY? o {
(ii) iVUut fundamental factors should i*fluence the rupee YaLare ! t

iiiil wrr*r, should REI intervene? . .. -, ^*.{ lr.rarra 
?

(iv) What is the difference between 'Depreciation' and 'Devalation' 2

(v) What is meant by Market Intervention' 2
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' (b) Calculate the interest rate arbitrage if any on 1 million if following . 
S.,

..- I
l

'. i'
r"'t '-

details are k:rown to You"
Spot USD/INR rate is 65'2315

Interest rate in India is 9o/a Pa--
Interest rate itr USA is 2o/o Pa'
i months forw'arci USD/INR rate is 65'2500
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